A2

sunny today.
Answer:

raining tomorrow.
Answer:

cold in winter.

Answer:

hot in summer.

Answer:

snowing in the mountains.
Answer:

windy at the beach.
Answer:

foggy in the morning.
Answer:

stormy at sea.
Answer:

cloudy in the afternoon.
Answer:

thunderstorms in the forecast.
Answer:




Answers

sunny today.
Answer: It is

raining tomorrow.
Answer: It will be

cold in winter.

Answer: It is

hot in summer.

Answer: It is

snowing in the mountains.
Answer: It is

windy at the beach.
Answer: It is

foggy in the morning.
Answer: It is

stormy at sea.
Answer: It is

cloudy in the afternoon.
Answer: It is

thunderstorms in the forecast.
Answer: There are



